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	Monday
	1423 × 12 =




	4584  ÷ 6 =

	11,483 + ? = 12,484

	6,029 − 5930 = ?

	0.25 × 1200 =


	Tuesday


	2344 x 20 




	1461 ÷ 11 = 

	? + 5,663 = 6772

	? – 100 = 4444
	0.5 x 500 =


	Wednesday
	2456 x 18




	29.32 ÷ 10 = ?
	313 + ? = 1997

	? = 49403 − 855

	5 + 3
6    3

	Thursday
	809.9 x 100




	127,290 ÷ 100 = ?
	? + 100 = 7092

	7 − 2.79 =   

	The square root of 144 = ?


	Friday 
	3.407 x 10 

 


	1812 ÷ 9 = ?
	199.1 + 983.9 =
	9382 – 9361  =

	Order from smallest
0.33 / 3.03 / 0.003 /
0.03 / 3.003
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